SR 2 FE 3 No2l 5H22H(%)
B R 6 5 HoOF KA

e
Z<%:T:t12|x|_i_|x_3|§9 ...... @724:%‘%_50

1) x<0 oLZx, OzZHENT, 2<0 EEDLEDL | TA |Sx<| U | 72D,
0=x<3Dex, QN T, 0Sx<3LBbELE| = |Zx< LD,
3=x w&x, OEMHNT, 32« EEbEDLE| W |ZxZ| F | &5,

2) AEXO ZWHT x OFPHIL| 77 |[SxZ| = | Th o,

fan
(1) [1] x<0n&Z
¥<0, x—3<0THDND, Ol —2x—(x—3)=9

2<0 EEbHET —2=x<0
2] 0Zx<3 DL %
220, x—=3<0 THH156, O 2x—(x—3)<9

x=<6
0=<x<3 LAEDLET 0<x<3
3] 3sx L=
=0, x—3=0THsr0H, OIL 2x+(x—3)<9
3x<12
2=4

3Sx LEDLET J=x=<4

2) 1]~[81&v, AOHDO LT  —2=<x=4 @l Z

v



